
#_ bft[ ;+:yf M                                       /sd ?=xhf/df

kl/df)f ef/ ah]^ kl/df)f ef/ ah]^ kl/df)f ef/ ah]^

c_

s_  dlxnf nlIft ;d'x ljsf; sfo{s|d

1
em=lk=g=kf !) emnf/L :jf:Yorf}sL k|;'lt ;]jf ;+rfng cg'bfg

k|=;= 100 1.09 315.00 100.00 1.09 315.00 100.00 1.09 315.00

2

em=lk=g=kf * lktfDa/ pk:jf:Yorf}sL k|;'lt ;]jf ;+rfng / cGo cg'bfg

k|=;= 100 1.09 315.00 100.00 1.09 315.00 100.00 1.09 315.00

3

em=lk=g=kf $ lkknf8L :jf:Yorf}sL k|;'lt ;]jf ;+rfng / Nofa ;+rfng 
cg'bfg k|=;= 100 1.09 315.00 100.00 1.09 315.00 100.00 1.09 315.00

4
em=lk=g=kf ! aG;fx pk:jf:Yo rf}sL k|;'lt ;]jf cg'bfg

k|=;= 100 1.09 315.00 100.00 1.09 315.00 100.00 1.09 315.00

5
v'nf lbzfd'St ;r]tgf d'ns sfo{s|d / cg'bfg

k|=;= 100 0.35 100.00 100.00 0.35 100.00 100.00 0.35 100.00

6

gu/kfnlsf v'nf lbzfd'Stsf nflu ljkGg÷Psn dlxnfx?nfO{ zf}rfno 
l/Ë tyf l;6 ljt/0f sfo{qmd 3/w'l/ 33 0.63 180.50 33.00 0.63 180.50 33.00 0.63 180.50

7
nf]s;]jf cfof]u sIff ;+rfng

hgf 40 0.35 100.00 40.00 0.35 100.00 40.00 0.35 100.00

8

dlxnf :jf:Yo :jod ;]ljsf vf]k,kf]lnof] cGo :jf:Yo ;]jf k|f]T;fxg 
cg'bfg hgf 80 0.52 150.00 80.00 0.52 150.00 80.00 0.52 150.00

9
dlxnf :jf:Yo :jod ;]ljsf lbj; sfo{s|d

k|=;= 100 0.05 15.00 100.00 0.05 15.00 100.00 0.05 15.00

10
4Gblk8Lt tyf Psn dlxnf r]tgfd'ns sfo{s|d

hgf 38 0.15 42.00 38.00 0.15 42.00 38.00 0.15 42.00

 cf=j=2072÷073 sf] jflif{s k|ult ljj/)f
1=cf=j=M2072÷073 10=aflif{s jh]^ ?= 32458               11= cfof]hgfsf] s'n nfut M                

2=ah]^ pk– lzif{s M 3658033 gu/kflnsf cg'bfg s_ cfGtl/s-1_ g]kfn ;/sf/ M 32458       s_ cfGtl/s

3=dGqfno M >L ;+l#o dfldnf tyf :yfgLo ljsf; dGqfno         -2_ ;+:Yff M                 1_ g]kfn ;/sf/

        -3_ hg;xeflutf M            2_ ;:yf

5=sfof{nosf] gfd M emnf/Llkknf*L gu/kflnsf sfof{no                                3_ hg;xeflutf

6=:Yffg M s_ lhNnf M sGrgk'/                                12_ ut cf=j= ;Ddsf] vr{ ?+

      v_ uf=lj=;=÷g=kf j*f g+= emnf/Llkknf*L g=kf= u_ ;^lx b/ M                     s_ cFGtl/s

4=ljefusf] gfd M

7=cfof]hgf z"? ePsf] ldlt M 2072 ;fn                               1= g]kfn ;/sf/

8=cfof]hgf k"/f x"g] ldlt M ;fnj;fnL                               2_ ;:yf

l;=g+= lqmofsnfk ljj/)f

jflif {s k|ult ljj/)f

jflif {s nIo

                              3_ hg;xeflutf

9=sfof{no k|d"vsf] gfd M >L /#'gfy cj:yL

s}lkmotOsfO{

k'+hLut vr{ cGtu{tsf sfo{qmdx?M

t];|f ] rf}dfl;s cjwL ;Ddsf] nIo t];|f ] rf}dfl;s cjwL ;Ddsf] k|ult



11
HIV lkl8t dlxnfx?nfO{ ;xof]u sfo{qmd

k|=;= 100 0.17 50.00 100.00 0.17 50.00 100.00 0.17 50.00

12
gfl/ lbj; sfo{qmd

k|=;= 100 0.13 37.00 100.00 0.13 37.00 100.00 0.13 37.00

13
emlk=g=kf= & s[i0f;f/ gful/s ;r]tgf s]Gb| ejg lgdf{0f 

uf]6f 1 0.29 85.00 1.00 0.29 85.00 1.00 0.29 85.00

14
emlk=g=kf= ! gful/s ;r]tgf s]Gb| ejg lgdf{0f 

uf]6f 1 0.28 80.00 1.00 0.28 80.00 1.00 0.28 80.00

15

l;kd'ns sfo{s|d ;+rfng g=kf= cGt{utsf dlxnf d'n ;ldltsf] dfu 
jdf]lhd l;nfO{ s6fO{ tfln sfo{qmd

hgf 21 0.29 83.00 21.00 0.29 83.00 21.00 0.29 83.00

16

l;kd'ns sfo{s|d ;+rfng g=kf= cGt{utsf dlxnf d'n ;ldltsf] dfu 
jdf]lhd dlxnfx? cfwf/e't sDo'6/ tflnd sfo{qmd

hgf 21 0.29 83.50 21.00 0.29 83.50 21.00 0.29 83.50

17

dlxnf ;zlQms/0fsf nflu pb3f]ifs  tflnd sfo{s|d ;+rfng dlxnf d'n 
;ldltsf] dfu jdf]lhd hgf 38 0.16 45.00 38.00 0.16 45.00 38.00 0.16 45.00

18

s[lif tyf e]6g/L ;+DalGw tflnd - t/sfl/ v]tL tyf kz'kfng tyf cfxf/f 
Joj:yfkg tflnd _ hgf 55 0.28 80.00 55.00 0.28 80.00 55.00 0.28 80.00

19
dlxnfx?nfO{ crf/ jgfpg] l;kd'ns tflnd

hgf 32 0.14 40.00 32.00 0.14 40.00 32.00 0.14 40.00

20
kz' s[lqd uef{wfg cg'bfg / kz' ljsf; sfo{s|d 

kl/jf/ 1250 0.35 100.00 1250.00 0.35 100.00 1250.00 0.35 100.00

21
kz' s[lqd uef{wfg vf]/ lgdf{0f - j8f g= !! Jf;Gt ;f=j= leq _

uf]6f 2 0.14 39.00 2.00 0.14 39.00 2.00 0.14 39.00

22
ljzfn ;xsf/L s[lif ;xsf/L ;+:yf sfof{no Joj:yfkg cg'bfg

k|=;= 100 0.07 20.00 100.00 0.07 20.00 100.00 0.07 20.00

23 ;fd'bflos  ljsf; sf]if sfo{s|d k|=;= 100 0.23 65.00 100.00 0.23 65.00 100.00 0.23 65.00

24
ljkGg÷Psn dlxnfx? x}08 kDk vl/b tyf ljt/0f sfo{qmd

hgf 10 0.28 81.50 10.00 0.28 81.50 10.00 0.28 81.50

dlxnf nlIft sfo{s|dsf] hDdf 2622 9.4826 2736.5 2622 9.483 2736.5 2622 9.4826 2736.5

v_

cflbjfl;,blnt,h]i7 gful/s ckfUf+tf, ljkGg 
/ lk5l8Psf] ju{ nlIft sfo{s|d 0 0.00 0 0.00 0.00 0 0.00 0.00 0

1

h]i7 gful/s ;Ddfg sfo{s|d tyf kf]zfs ljt/0f
k|=;= 33 0.31 90 33.00 0.31 90 33.00 0.31 90

2

ckfËtf ePsf JolStx?nfO{ xj]n r]o/÷6«fO{ ;fO{lsn ljt/0f sfo{qmd 
gu/:tl/o ckfË ;+hfnsf] dfu jdf]lhd hgf 26 0.24 70 26.00 0.24 70 26.00 0.24 70

3

ljkGg ckfËtf ePsf JolStx?nfO{ zf}rfno lgdf{0fsf nflu l;6 tyf 
l/Ë ljt/0f sfo{qmd gu/:tl/o ckfË ;+hfnsf] dfu jdf]lhd

3/w'/L 14 0.42 120 14.00 0.42 120 14.00 0.42 120

4

czQm ckf¨tf ePsf JolStnfO{ cfod'ns sfo{s|d ;+rfng 
gu/:tl/o ckfË ;+hfnsf] dfu jdf]lhd

hgf 11 0.17 50 11.00 0.17 50 11.00 0.17 50



5

pRr lzIff cWoogsf nflu ljkGg czQm ckf¨tf ePsf JolStnfO{ 
5fqj[lt sfo{s|d  gu/:tl/o ckfË ;+hfnsf] dfu jdf]lhd

hgf 8 0.14 40 8.00 0.14 40 8.00 0.14 40

6

czQm ckf¨tf ePsf JolStnfO{ ;xof]u sfo{qmd  gu/:tl/o ckfË 
;+hfnsf] dfu jdf]lhd

hgf 1 0.03 10 1.00 0.03 10 1.00 0.03 10

7
emlk=g=kf=% af}l4s ckfËnfO{ z}lIfs ;fdu|L / vfhf Joj:yf

k|=;= 100 0.14 40 100.00 0.14 40 100.00 0.14 40

8
nf]s ;]jf cfof]u sIff ;+rfng

hgf 60 0.59 170 60.00 0.59 170 60.00 0.59 170

9

ljkGg blntx?nfO{  gu/kflnsf v'nflb;f d'St 3f]if0f ug{ zf}rfno 
lgdf{0fsf nflu l/Ë tyf l;6 ljt/0f sfo{qmd 3/w'/L 22 0.73 210 22.00 0.73 210 22.00 0.73 210

10

ljkGg blntx?nfO{  ;xof]u  sfo{qmd gu/:tl/o blnt ;+hfnsf] 
dfu jdf]lhd JolQm 2 0.03 10 2.00 0.03 10 2.00 0.03 10

11

blnt ju{sf jolQmx?nfO{ Ifdtf d'ns sfo{qmd gu/:tl/o blnt 
;+hfnsf] dfu jdf]lhd hgf 350 0.14 40.5 350.00 0.14 41 350.00 0.14 41

12
3/ agfpg] ld:qL -8sdL{_ nfO{ k'g{tfhlso tflnd ;+rfng 

hgf 23 0.14 40 23.00 0.14 40 23.00 0.14 40

13
;'wfl/Psf] cf/g ;DalGw sfo{s|d ;+rfng

hgf 20 0.07 20 20.00 0.07 20 20.00 0.07 20

14

cflbjf;L hghftL ju{sf JolStx?nfO{ Ifdtf d'ns sfo{s|d / 
;+:yfut ljsf; ;dGjo ;ldltsf] dfu jdf]lhd gof jif{ z'esfdgf 
tyf j[xt ;f:s[lts sfoqmd

hgf 250 0.17 50 250.00 0.17 50 250.00 0.17 50

15

cflbjf;L hghftL ju{sf JolStx?nfO{ Ifdtf d'ns sfo{s|d / 
;+:yfut ljsf; ;dGjo ;ldltsf] dfu jdf]lhd 
k'/ftflTjs÷Pltxfl;s dxTjsf k'g;+/rgf lgdf{0f sfo{qmd

k|=;= 100 0.09 27 100.00 0.09 27 100.00 0.09 27

16

cflbjf;L hghftL ju{sf JolStx?nfO{ Ifdtf d'ns sfo{s|d / 
;+:yfut ljsf; ;dGjo ;ldltsf] dfu jdf]lhd sfof{no Joj:yfkg 
tyf ef}lts k'jf{wf/ ;''wf/ sfo{qmd

k|=;= 100 0.25 71.5 100.00 0.25 72 100.00 0.25 71.5

17

cflbjf;L hghftL ju{sf JolStx?nfO{ Ifdtf d'ns sfo{s|d / 
;+:yfut ljsf; ;dGjo ;ldltsf] dfu jdf]lhd sfg'lg ;r]tgf 
celd'lvs/0f sfo{qmd

hgf 40 0.07 19 40.00 0.07 19 40.00 0.07 19

18

cflbjf;L hghftL ju{sf JolStx?nfO{ Ifdtf d'ns sfo{s|d / 
;+:yfut ljsf; ;dGjo ;ldltsf] dfu jdf]lhd gu/kflnsfnfO{ v'nf 
lbzf d'Qm ug{ ljkGg cflbjfl;÷hghfltx?nfO{  l/Ë,l;6,tyf 
cfjZos ;fdflu| ljt/0f sfo{qmd

3/w'/L 11 0.28 80 11.00 0.28 80 11.00 0.28 80



19

s[lif / e]6g/L ;DalGw cfwf/e't tflnd -blnt / cflbjf;L hghftL 
ju{_ hgf 72 0.28 80 72.00 0.28 80 72.00 0.28 80

20
emlk=g=kf=% afbL ;d'bfo nfO{ zf}rfno lgdf{0f uf]6f 1 0.05 15 1.00 0.05 15 1.00 0.05 15

21

emlk=g=kf=$ /fli6«o pRr df=lj=blIf0f :ofnL gbL ;Dd hfg] af6f]df 
;8s u|]en ls=ld= 0.27 0.69 200 0.27 0.69 200 0.27 0.69 200

22
emlk=g=kf=* gf}v'/L ufp+ l;dfgf pQ/ kf/Lkmf+6f ;8s u|fe]n

ls=ld= 0.4 0.55 160 0.40 0.55 160 0.40 0.55 160

23 snf,;+:s[lt /  ko{6g k|j4{g k|=;= 100 0.31 90 100.00 0.31 90 100.00 0.31 90

24
emlk=g=kf=!) cw'/f] :n]j sNe6{ lgdf{0f ;fls{ 6f]n

uf]6f 1 0.69 200 1.00 0.69 200 1.00 0.69 200

25

emlk=g=kf=! hgr]tgf k|f=lj=u0f]zk'/ ef}lts k'jf{wf/ ;'wf/      - 
rf}w/L 6f]n _ uf]6f 1 0.14 40 1.00 0.14 40 1.00 0.14 40

26
emlk=g=kf=* a}hgfy k|f=lj=vh'jf kmlg{r/ lgdf{0f k|=;= 100 0.14 40 100.00 0.14 40 100.00 0.14 40

27 emlk=g=kf=* hgefjgf lg=df=lj= kmlg{r/ vl/b k|=;= 100 0.14 40 100.00 0.14 40 100.00 0.14 40

28 emlk=g=kf=!! bz/y k|f=lj=cd/k'/ dd{t sfo{ k|=;= 100 0.14 40 100.00 0.14 40 100.00 0.14 40

29
emlk=g=kf=!! led cfbz{ k|f=lj=sn'jfk'/ dd{t k|=;= 100 0.14 40 100.00 0.14 40 100.00 0.14 40

30
emlk=g=kf=# hgHof]tL lg=df=lj=hf]gfk'/L 5fgf dd{t k|=;= 100 0.20 58 100.00 0.20 58 100.00 0.20 58

31
emlk=g=kf=& s[i0f lg=df=lj=kmlg{r/ lgdf{0f cf/If lkl8t k|=;= 100 0.21 60 100.00 0.21 60 100.00 0.21 60

32 emlk=g=kf=$ sflnsf df=lj=c;}gf kmlg{r/ k|=;= 100 0.28 80 100.00 0.28 80 100.00 0.28 80

33

em=lk=g=kf= $ sflnsf df=lj=pQ/ klZrd blnt j:tL cw'/f] af6f] 
u|]en ls=ld= 0.11 0.17 50 0.11 0.17 50 0.11 0.17 50

34

emlk=g=kf=$ sflnsf df=lj=k'j{ ;'gj/f  blnt j:tL af6f] u|]en 
ls=ld= 0.1 0.14 40 0.10 0.14 40 0.10 0.14 40

35

emlk=g=kf=!! kbd ;fsL{ 3/ b]lv s[i0fla/ r'gf/f 3/ ;Dd lrtf}/f 
gfnf ;Dd u|]en ls=ld= 0.12 0.14 40 0.12 0.14 40 0.12 0.14 40

36
emlk=g=kf=! ;'gf/ 6f]n aG;fx cw'/f] af6f]df u|]en

ls=ld= 0.11 0.12 36 0.11 0.12 36 0.11 0.12 36

37
emlk=g=kf=! aG;fx rf}/fx b]lv l;4 k|fljhfg] af6f] dd{t

ls=ld= 0.12 0.14 40 0.12 0.14 40 0.12 0.14 40

38 emlk=g=kf=! e/s'G8f vfg]kfgL cfof]hgf sfo{s|d uf]6f 1 0.69 200 1.00 0.69 200 1.00 0.69 200

39

emlk=g=kf=!! dx]Gb|gu/ /fhdfu{ b]lv blIf0f lbkgu/ ufp+ k'j{ /L¨ 
/f]8 ;8s u|]en dd{t ls=ld= 0.5 0.83 240 0.50 0.83 240 0.50 0.83 240

40
emlk=g=kf=*;k{ b+z pkrf/ s]Gb| ejg lgdf{0f ch'[lg Jof/]s uf]6f 1 0.52 150 1.00 0.52 150 1.00 0.52 150

41
emlk=g=kf=* hulbz /f]sfof 3/ glhs ;8s u|fe]n

ls=ld= 0.04 0.07 20 0.04 0.07 20 0.04 0.07 20



42
cw'/f] :n]j sNe6{ lgdf{0f  - emlkg=kf= & _

uf]^F 1 0.60 173 1.00 0.60 173 1.00 0.60 173

43
cw'/f] :n]j sNe6{ lgdf{0f    - emlkg=kf= !) _

uf]^F 1 0.83 240 1.00 0.83 240 1.00 0.83 240

44

;fljs lkknf8L uflj; b]lv gGb] lai6sf] 3/ lt/ hfg] af6f]df u|]en - 
j8f g= $ _ ls=ld= 0.25 0.52 150 0.25 0.52 150 0.25 0.52 150

45

uh{d'lg lza dlGb/ b]lv lkkn rf}tf/f lzaz+s/ df=lj=;Dd u|]en - 
j8f g= % _ ls=ld= 0.26 0.55 160 0.26 0.55 160 0.26 0.55 160

46

gx/ sNe6{ b]lv 1fg]Gb| hf]zL 3/ ;Dd bfof+ af+of 6f]6L ;Dd u|]en - 
j8f g= ^ _ ls=ld= 0.28 0.55 160 0.28 0.55 160 0.28 0.55 160
cflbjfl;,blnt,h]i7 gful/s ckfUtf,ljkGg 
/ lk5l8Psf] ju{ nlIft sfo{s|dsf] hDdf 2053 14 4000 2053 14 4000 2053 14 4000

u _ jfnjflnsf nlIft sfo{s|d 0 0 0 0.00 0.00 0 0.00 0.00 0

1
lzaz+s/ df=lj=kmlg{r/ lgdf{0f - j8f g= % _

k|=;= 100 0.27 77 100.00 0.27 77 100.00 0.27 77

2
cl;u|fd df=lj=Eofn,9]fsf / k]6L lgdf{0f - j8f g= ( _

k|=;= 100 0.28 80 100.00 0.28 80 100.00 0.28 80

3
;/:jtL df=lj=cd/k'/ kmlg{r/ - j8f !! _

k|=;= 100 0.28 80 100.00 0.28 80 100.00 0.28 80

4
a}hgfy k|f=lj=nIdLk'/ kmlg{r/ - j8f g= @ _

k|=;= 100 0.14 40 100.00 0.14 40 100.00 0.14 40

5
lqd'lt{=k|f=lj=cw'/f] ejg lgdf{0f - j8f g= !) _

k|=;= 100 0.14 40 100.00 0.14 40 100.00 0.14 40

6
d+un k|f=lj=lzz}of sDkfp08 jfn lgdf{0f - j8f g= ( _

k|=;= 100 0.14 40 100.00 0.14 40 100.00 0.14 40

7

afnSnj u7g ÷ jfnSnj x?sf] Ifdtf ljsf;sf nflu ;Dk'/s sf]if 
cg'bfg sfo{qmd k|=;= 100 0.38 110 100.00 0.38 110 100.00 0.38 110

8

afn Snj / afn ;+hfn kbflwsf/L Ifdtf ljsf; tflnd÷jfn d}lq 
:yflgo zf;g cled'lvs/0f sfo{qmd k|=;= 100 0.35 100 100.00 0.35 100 100.00 0.35 100

9
v]ns'b ljsf; sfo{s|d

k|=;= 100 0.23 65 100.00 0.23 65 100.00 0.23 65

10

kGrsf]6L dl0fsfwfd jfn ljsf; s]Gb| emnf/Llkknf8L g=kf= ejg 
lgdf{0f * uf]6f 1 0.10 30 1.00 0.10 30 1.00 0.10 30

11

;3{if jfn ljsf; s]Gb| emnf/Llkknf8L g=kf= % ejg dd{t
tyf 3]/jf/ uf]6f 1 0.14 40 1.00 0.14 40 1.00 0.14 40

12

dgsfdgf jfn ljsf; s]Gb| emnf/Llkknf8L g=kf= % z}lIfs ;fdflu| / 
v]nf}gf ;xof]us sfo{qmd uf]6f 1 0.03 10 1.00 0.03 10 1.00 0.03 10

13

z'esfdgf jfn ljsf; s]Gb| emnf/Llkknf8L g=kf= * z}lIfs ;fdflu| 
/ v]nf}gf ;xof]us sfo{qmd uf]6f 1 0.03 10 1.00 0.03 10 1.00 0.03 10



14

lj/ j]tfn jfn ljsf; s]Gb| emnf/Llkknf8L g=kf= !! z}lIfs ;fdflu| 
/ v]nf}gf ;xof]us sfo{qmd uf]6f 1 0.03 10 1.00 0.03 10 1.00 0.03 10

15

cd/ Hof]lt jfn ljsf; s]Gb| emnf/Llkknf8L g=kf= !! z}lIfs ;fdflu| 
/ v]nf}gf ;xof]us sfo{qmd uf]6f 1 0.03 7.5 1.00 0.03 8 1.00 0.03 8

16

cfbz{ jfn ljsf; s]Gb| emnf/Llkknf8L g=kf= !! z}lIfs ;fdflu| / 
v]nf}gf ;xof]us sfo{qmd uf]6f 1 0.03 7.5 1.00 0.03 8 1.00 0.03 8

17

b'uf{ jfn ljsf; s]Gb| emnf/Llkknf8L g=kf= !! z}lIfs ;fdflu| / 
v]nf}gf ;xof]us sfo{qmd uf]6f 1 0.05 15 1.00 0.05 15 1.00 0.05 15

18

lzj jfn ljsf; s]Gb| emnf/Llkknf8L g=kf= % z}lIfs ;fdflu| / 
v]nf}gf ;xof]us sfo{qmd uf]6f 1 0.03 10 1.00 0.03 10 1.00 0.03 10

19

;+3fl/ jfn ljsf; s]Gb| emnf/Llkknf8L g=kf= ! z}lIfs ;fdflu| / 
v]nf}gf ;xof]us sfo{qmd

uf]6f 1 0.03 10 1.00 0.03 10 1.00 0.03 10

20

cgfy,6'x'/f,cfly{s ljkGgtf,ckfË / h]x]Gbf/ ljBfyL{ 5fqj[lQ sfo{s|d

k|=;= 100 0.26 75 100.00 0.26 75 100.00 0.26 75

21

vf]k s]Gb| ejg lgdf{0f emnf/Llkknf8L g=kf= j8f & l;dnkmf6f

uf]6f 1 0.14 40 1.00 0.14 40 1.00 0.14 40

22
vf]k s]Gb| ejg lgdf{0f emnf/Llkknf8L g=kf= j8f % uh{d'lg

uf]6f 1 0.14 40 1.00 0.14 40 1.00 0.14 40

23
l;4 a}hgfy p=df=lj=sDkfp08 jfn lgdf{0f - j8f g= ! _

k|=;= 100 0.42 120 100.00 0.42 120 100.00 0.42 120

24

/fli6«o pRr df=lj= kmlg{r/ lgdf{0f / sDo'6/ dd{t - j8f g= $ _

k|=;= 100 0.55 160 100.00 0.55 160 100.00 0.55 160

25
a}hgfy pRr df=lj=s;/f}n kmlg{r/ - j8f g= ^ _

k|=;= 100 0.42 120 100.00 0.42 120 100.00 0.42 120

26
wd{hgtf pRr df=lj=:6]zgk'/ u]6 lgdf{0f - j8f g= & _

k|=;= 100 0.42 120 100.00 0.42 120 100.00 0.42 120

27
s[i0f pRr df=lj=kmlg{r/ lgdf{0f - j8f g= !) _

k|=;= 100 0.42 120 100.00 0.42 120 100.00 0.42 120

28
s[i0f lg=df=lj=u]6 lgdf{0f - j8f g= ! _

k|=;= 100 0.21 60 100.00 0.21 60 100.00 0.21 60

29
hghfu[lt =df=lj=kmlg{r/ lgdf{0f - j8f g= ! _

k|=;= 100 0.21 60 100.00 0.21 60 100.00 0.21 60

30
a}hgfy lg=df=lj=kmlg{r/ lgdf{0f - j8f g= * _ kfl/kmf6f

k|=;= 100 0.21 60 100.00 0.21 60 100.00 0.21 60

31

a}hgfy lg=df=lj=vfg]kfgL wf/f h8fg tyf zf}rfno dd{t ;Def/  - 
j8f g= * _ j]N8f8L k|=;= 100 0.21 60 100.00 0.21 60 100.00 0.21 60

32
ejfgL k|f=lj=h'8f zf}rfnosf] 5fgf dd{t - j8f g= & _

k|=;= 100 0.14 40 100.00 0.14 40 100.00 0.14 40



33
zflGt k|f=lj=u]6 lgdf{0f - j8f g= & _

k|=;= 100 0.14 40 100.00 0.14 40 100.00 0.14 40

34
lbkgu/ k|f=lj=kmlg{r/  - j8f g= !! _

k|=;= 100 0.14 40 100.00 0.14 40 100.00 0.14 40

35

k|ult jfn ljsf; s]Gb|sf] ef]lts k'jf{wf/ ;'wf/ - j8f g= !! _
k|=;= 100 0.14 40 100.00 0.14 40 100.00 0.14 40

36

s[i0fa}hgfy ax'd"vL SofDk;hfg]af6f]df t6jGw lgdf{0f - j8f g= ( _
ld= 33 0.82 238 33.00 0.82 238 33.00 0.82 238

37

tNnf] h'8f b]lv ;d'x rf}/fx k'j{sf] af6f] u|]en ejfgL k|f=lj=;Dd - 
j8f g= & _ ls=ld= 0.12 0.14 40 0.12 0.14 40 0.12 0.14 40

jfnjflnsf nlIft sfo{s|dsf] hDdf 2345 8 2255 2345 8 2255 2345 8 2255

# cfly{s ;fdflhs k'jf{wf/ ljsf; sfo{s|d 0.00 0.00 0.00 0.00 0.00 0 0.00 0.00 0

1

 emlk =g=kf= !) >L s[i0f a}hgfy jx'd"vL SofDk; ejg lgdf{0f 
uf]^f

1 1.94 560 1.00 1.94 560 1.00 1.94 560

2

emlk =g=kf= ! aG;fxf tNnf] rf}/fx b]lv hghfu[lt lg=df=lj=;Ddsf] 
af6f]df u|]en ls=ld=

1 1.94 560 1.00 1.94 560 1.00 1.94 560

3

emlk =g=kf= @ l;4a}hgfy p=df=lj=b]lv /fgLk'/ hfg] af6f]df u|]en / 
xo'dkfO{k ls=ld=

0.96 1.62 467 0.96 1.62 467 0.96 1.62 467

4

emlk =g=kf= # ho ljBflgs]tg b]lv blIf0f hf]gfk'/sf] hgHof]lt 
lgdflj af6f] x"+b} hfg] af6f] / nId0f 8uf}/fsf] 3/ b]lv ;'gj/f gbL 
;Dd u|]en xf]dkfO{k

ls=ld=

0.92 1.60 463 0.92 1.60 463 0.92 1.60 463

5

emlk =g=kf=$ / !) emnf/L d]g /f]8 blIf0f sflnsf df=lj=b]lv  blIf0f 
/ klZrd ;fljs lkknf8L uf=lj=;=x'+b}+ /fli6«o pRr df=lj=hfg] af6f] 
u|]en b'a}lt/

ls=ld=

1.1 2.47 712 1.10 2.47 712 1.10 2.47 712

6

emlk =g=kf= % vh'jf rf}/fx b]lv blIf0f gfnfdf :n]j sNe6{ / u|]en
uf]^f

1 2.08 600 1.00 2.08 600 1.00 2.08 600

7

emlk =g=kf= ^ ag ;ldlt b]lv s;/f}n hfg] af6f]df u|]en zfvf af6f] 
;d]t / /fd axfb'/ P]/sf] 3/ b]lv na? /fgfsf] 3/ x"+b}+ gbL ;Ddsf] 
af6f] bfof+ afof+ u|]en

ls=ld=

1.3 2.08 600 1.30 2.08 600 1.30 2.08 600

8

emlk =g=kf= & sf] l;dfgf b]lv u0f]z l;+x P]/sf] 3/ ;Ddsf] d'n 
;8sdf  u|fe]n / hfln nufO{ jf6f] rf}8 ug]{ sfo{ ls=ld=

0.61 1.82 525 0.61 1.82 525 0.61 1.82 525

9

emlk =g=kf= * sf] l;df km'n]nL b]lv kf/Lkmf+6f ;Ddsf] ;8s 
:t/f]Gglt a}hgfy lgdflj ed/ef]h hfg] af6f] u|]en / hfln nufO{ 
jf6f] rf}8 ug]{ sfo{

ls=ld=

0.6 1.73 500 0.60 1.73 500 0.60 1.73 500



10
emlk =g=kf= ( sf] ;fj{hlgs hldg ;+/If0f ld= 800 1.73 500 800.00 1.73 500 800.00 1.73 500

11

emlk =g=kf= !) emnf/L d]g/f]8 b]lv hAbf ;Dd hfg] af6f] zfvf 
;d]tdf u|]en sfo{

ls=ld=
1.25 1.73 500 1.25 1.73 500 1.25 1.73 500

12

emlk =g=kf= !! /fdhfgsL dlGb/ b]lv gj/fh hf]zLsf] 3/ hfg] 
yfkfsf] ldn hfg] af6f]df :n]j sNe6{ / u|]en sfo{ uf]^f

1 2.60 750 1.00 2.60 750 1.00 2.60 750

cfly{s ;fdflhs k'jf{wf/ ljsf; sfo{s|dsf] hDdf
811 23 6737 811 23 6737 811 23 6737

*=_  k|jb{gfTds If]q sfo{s|d 0.00 0.00 0.00 0.00 0.00 0 0.00 0.00 0

1

eujtL dlxnf ;fd'bflos ag b]lv hghfu[tL lgdflj ;Dd hfg] 
af6f]df u|]en - j8f g= ! _

ls=ld= 0.4 0.83 240 0.40 0.83 240 0.40 0.83 240

2

efuL/fdsf] bf]sfg b]lv ldt]/L k'n x'+b}+ klZrd ;'gj/f ;Dd af6f]df 
u|]en Xo'dkfO{k h8fg tyf jfn lgdf{0f - j8f g= @ _

ls=ld= 0.25 0.83 240 0.25 0.83 240 0.25 0.83 240

3
kf]v/L hfg] af6f]df  u|fe]n - j8f g= # _

ls=ld= 0.33 0.59 170 0.33 0.59 170 0.33 0.59 170

4

ag ;ldlt b]lv ld7'sf] ldn u|]en - j8f g= % _

ls=ld= 0.5 0.83 240 0.50 0.83 240 0.50 0.83 240

5

Jff8{ g+=!) sf] l;dfgf b]lv sfnfkfgL ;fd'bflos ljsf;sf] sfof{no 
ejg ;Dd u|]en sfo{ ls=ld= 0.43 0.83 240 0.43 0.83 240 0.43 0.83 240

6

ed/ef]h / kf/Lkmf+6f pQ/ lsgf/fsf] af6f] gbLsf] b'a}lt/ hf]8g] 
af6f]df u|]en, 9'uf+ ;f]lnË tyf hfln e/fg  - j8f g++ * _

ls=ld= 0.11 0.73 211 0.11 0.73 211 0.11 0.73 211

7

dx]Gb| /fhdfu{ b]lv eLd cfbz{ k|f=lj=hfg] af6f] dd{t / l/6]lgË jfn 
lgdf{0f _ j8f g+ !! _

ls=ld= 0.1 0.83 240 0.10 0.83 240 0.10 0.83 240

8

ldt]/L k'n b]lv lai0f' kg]?sf] 3/ ;Dd u|fe]n
- j8f g= @ _ ls=ld= 0.26 0.42 120 0.26 0.42 120 0.26 0.42 120

9

l;dnkmf+6f s;/f}nsf] l;dfgf:ofnL gbL lsgf/} lsgf/ klZrd s[i0f 
lgdflj;Dd u|]en - j8f g= & _ ls=ld= 0.3 0.55 160 0.30 0.55 160 0.30 0.55 160

10

sn'jfk'/ lar ufp+ rf}/fx b]lv l;4gfy k|f=lj=x'+b} nf]xf/k'/ hfg] af6f] 
u|]en - j8f g= !! _ ls=ld= 0.12 0.14 40 0.12 0.14 40 0.12 0.14 40

12

lbkgu/ yfkfsf] ldn b]lv blIf0f af6f] u|]en _ j8f g= !! _
ls=ld= 0.12 0.14 40 0.12 0.14 40 0.12 0.14 40

14

u|fld0f ljB't ;xsf/L ejg b]lv 6««fG;kmd{/ ;Ddsf] af6f] u|]en - j8f 
g= ! _ ls=ld= 0.12 0.14 40 0.12 0.14 40 0.12 0.14 40

15
c:yfoL k|x/L kf]i6 5fgf dd{t - j8f g= ! _

k|=;= 100 0.10 30 100.00 0.10 30 100.00 0.10 30



16

l;;}of wf/fkfgL ;8s zfvf af6df u|]en - j8f g= ( _
ls=ld= 0.16 0.42 120 0.16 0.42 120 0.16 0.42 120

17

emnf/L d]g /f]8 pQ/ gx/sf] af6f] jf8{ ^ s;/f}nsf] l;dfgf ;Dd 
u|]en ls=ld= 0.3 0.55 160 0.30 0.55 160 0.30 0.55 160

18

v]d/fh P]/sf] 3/ b]lv bz/y k|flj x"+b}+ dx]Gb| /fhdfu{ lg:sg] af6f]df 
u|]en / Xo'dkfO{k h8fg - j8f g= !! _

ls=ld= 0.27 0.55 160 0.27 0.55 160 0.27 0.55 160

19

u0f]zk'/ uf]/] 8f+8f b]lv b'uf{ bQ e§ 3/ ;Dd u|]en - emlk =g= kf= 
j8f gDj/  !     _ ls=ld= 0.12 0.14 40 0.12 0.14 40 0.12 0.14 40

21
ljkb Joj:yfkg sf]if 

k|=;= 100 0.35 100 100.00 0.35 100 100.00 0.35 100

22
kmf]x/d}nf Joj:yfkg 

k|=;= 100 0.97 280 100.00 0.97 280 100.00 0.97 280

23
dd{t ;Def/ sf]if

k|=;= 100 0.69 200 100.00 0.69 200 100.00 0.69 200

25 :yflgo lgsfosf l/Qm sd{rf/Lx?sf] kbk'lt{ sfo{qmd k|=;= 100 0.62 180 100.00 0.62 180 100.00 0.62 180

26
;fdflhs kl/rfng sfo{

k|=;= 100 0.26 75 100.00 0.26 75 100.00 0.26 75

27
agf/f gbL d;fg#f^ lgdf{)f

k|=;= 100 0.10 28 100.00 0.10 28 100.00 0.10 28

28
nfu" kbfy{ b"Jo{;lg ;DjGwL r]tgfd'ns sfo{qmd

k|=;= 100 0.09 25 100.00 0.09 25 100.00 0.09 25

29
zxl/ ;'/Iff sfo{qmd

k|=;= 100 0.05 15 100.00 0.05 15 100.00 0.05 15

30
jftfj/)f ;+/If)fsf nflu ;r]tgf d'ns sfo{qmd

k|=;= 100 0.07 20 100.00 0.07 20 100.00 0.07 20

31
emnf/L pwf]u jfl)fHo ;+#nfO{ kmlg{r/ ;xof]u

k|=;= 100 0.03 10 100.00 0.03 10 100.00 0.03 10

32

  gu/kflnsf ;DjGwL ljljw ultljwL pTkfbg tyf k|;f/)f - 

l^=le=÷Pkm=Pd=÷kqklqsf _ k|=;= 100 0.35 100 100.00 0.35 100 100.00 0.35 100

33
gu/kflnsfsf] nflu df]^/ ;fO{lsn vl/b

uf]^f 1 0.59 170 1.00 0.59 170 1.00 0.59 170

34
v'nf lbzfd'St ;r]tgf d'ns sfo{s|d / cg'bfg k|=;= 100 0.33 95.5 100.00 0.33 96 100.00 0.33 96

35
gu/ ljsf; of]hgf k'l:tsf to/fL tyf k\sf;g

k|=;= 100 0.21 60 100.00 0.21 60 100.00 0.21 60

 k|jb{gfTds If ]qsf ] hDdf 1404.89 13.34 3849.50 1404.89 13.34 3849.50 1404.89 13.34 3849.50

r_ dGqfnojf^ lzif{s tf]lsPsf] k'lhut cg'bfg sfo{s|dsf] hDdf
0.00 0.00 0.00

0.00 0.00 0 0.00 0.00 0

1 ;jf/L ;fwg vl/b uf]^f 1 10.40 3000 1.00 10.40 3000 1.00 10.40 3000

dGqfnojf^ lzif{s tf]lsPsf] k'lhut cg'bfg sfo{s|dsf] hDdf 1 10.40 3000 1.00 10.40 3000 1.00 10.40 3000

%_ ljleGg sf]ifdf d]lr+u km)* n=;= 100 18.65 5383 100.00 18.65 5383 100.00 18.65 5383



h _ sG^]h]G;L vr{ tkm{ 0 0 0 0.00 0.00 0 0.00 0.00 0

1

cfof]hgf ;j{]If0f,;DefJotf cWoog, l8hfO{g, 8«O{ª jftfj/0fLo, ;fdflhs

/ k|fljlw cWoog
k|=;=

100 0.29 85 100.00 0.29 85 100.00 0.29 85

2

cfof]hgf clen]v, Joj:yfkg, of]hgf vftf, /lhi6«/ 
k|=;=

100 0.66 190 100.00 0.66 190 100.00 0.66 190

3

cfof]hgf ;'k/Lj]If0f, cg'udg / d"NofÍg
k|=;=

100 0.69 200 100.00 0.69 200 100.00 0.69 200

4

;dflhs k/LIf0f, ;fj{hlgs ;'g'jfO{, u'gf;f] Joj:yfkg
k|=;=

100 0.34 97 100.00 0.34 97 100.00 0.34 97

5

pkef]Stf ;ldlt u7g, cled'lvs/0f, :6]zg/L, k|fljlws / k|zf;lgs vr{
k|=;=

100 0.40 115 100.00 0.40 115 100.00 0.40 115

6

;jf/L ;fwg tyf k|fljlws pks/0f dd{t tyf ;Def/
k|=;=

100 0.35 100 100.00 0.35 100 100.00 0.35 100

7 jf]nkq cfXjfg tyf vl/b ;Demf}tf
k|=;=

100 0.38 110 100.00 0.38 110 100.00 0.38 110

sG^]h]G;L vr{ tkm{sf] hDdf 3.10832 897 700 3.1083 897 700 3.10832 897

k'lhut sfo{s|dsf] hDdf 100.00 28858.00 0.00 100.00 28858 0.00 100.00 28858

rfn' vr{ sfo{s|d tkm{ 0 0 0 0.00 0.00 0 0.00 0.00 0

sfof{no ;+rfng tyf pkef]u vr{ 0 0.00 3600 0.00 0.00 3600 0.00 0.00 3600

rfn" vr{ / k'lhut vr{ sfo{qmdsf] hDdf M 0 100.00 32458.00 0.00 100.00 32458.00 0.00 100.00 32458.00

efl/t k|ult k|ltzt 100.00℅

ef}lts k|ult k|ltzt 100.00℅

cfly{s k|ult k|ltzt 100.00℅
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